Leduwe 12 : 7’&074«4 onden  orgutoveg

YKL Lecond) Hersveteve

ol B - E)

(2)

ot potlkion fllfx) or 7A (z)

e 04&30 Vm Abe  Abind it ¢
d Y
4w )= 5] 2]
aygﬂu WLM : 301” (x) ov 70/3) (1_)

zgﬁz ﬂ/é& %Vbévw{rivc,

A’ Y -

] = 2 2T a5
n  AdvekivA

M potabion:  F (X))




e.;. @ 61:763*27-) 5;,,0 J”~
II_ j _
il Rm)- w20 )

f [z’fzx]: 2+ 2

¢ Ll

x +2 = (o=

d = L 3ia] -

@ 311>=£fj"c@a(az) 4 g
frast nee gz
&f’/x)=j£['6es-&] b loeSE
= b-e + Ge "
= 30e " cos (21,) — 12 e**sin(2x)

J ) :J% [ 30e cos(22) - ’28955""‘[2")]

= g /-306 5”“] + 3Def”
+ —&Z_— g’“]ALw(lx) + T)zet” ,}%[—55”17\0]

dz



S _
= 3D-e -5 + 30e°"
- 12 Bs_x'g'sm(lz) —(2e5% cosl2x)-Z

(2.6 5% cos(2x) — (20 & " sin(2x)

@ o P = 0 dec (22 . ﬁd P4y
(s) } _
VAL ED ﬂ/ Jp(q)a)]

ﬁ [ 10 iz ]

10 dec | 22 ) tan ( 2z ). 2
2o Aec(’)-x) 7Lav\(7~z->

I

il

oo

@ZJ dli)=4"+ 10t -t + | R Ml  pusition %
14 f { v&ne, .
o o Ot gkl

on a/z‘): (/'//f)

a fa/bfccj:_ MovAn i
19%ak 3 Al d accbiak:
acc.: alt)= ,d"(z‘)
}d’[.{.): 3{'2"‘101'—[ A"Vbéocdl:a_
alt) = 4'lt) = # 2. 204 -1)

u | 35420
= (Gt +20 &~  aachnabion .



Zoofww. |2 %yﬁm s1dlen Muq
p%/%z decond  oniuedeve
A% _ A4
L rpel = £ Eree)) A5 )]

Ahen nobation Ll o £ )

Abind  derntvetive

JE — _
LTl = ] 2274
. potobion : fm/l) o 7[)(3)[1)

VLLL 91 lenvatsve

ﬁ [f(x)]: 2{‘[' %[}'{xq}
TR doiiEes

A notbson £ Tl



8.07.

(D Lt dlt)y=~ <104 +| G 24

posi teon a W[cxee y 2V, SN (23

in Leconds.
Find Al  acibrntion % A /wr,é‘@,é.
accleuwbion  alt)= 4" (#) = '(4)

)d'[f = ép 2
) ;(;;[{3+IDz‘ “[‘1—(]
= 3% 20+ — | — vdm“é;,

alt) = 4"t)= 4 z
Jf[gi 4£0t‘ "’]
= (Lt + 20 Wl,/g:"



5&\40 (7”/7(.).

@ 9(x) = e cos(z)

ﬁmjt‘ Need O?’(zc).
;//1) = ;’%[(965-" 7

= lg S S
&:[(Qe ] + (e’>*

= COBS-,L‘; + [aerﬁ
30e  caslax) — (2 5% gin(2x)

= i Sz _ Sk R
Ix [306 cas(2x) — 12 € 4in (21)]

- ﬁ [ 30e5*] + 30e’*

P Sz . Sx
+ ;E’Z:IZQ ;IALVI(22L>+ 12e ﬁ[ﬁﬂ/lx)}
_ 3065_7(.5- + 3065‘1«

~ L™ 5 gnlax) ~ 12 5F cos (22 2
= |2Ge"” ca(2x) — 12De* sn(2x)

(3) oo V(2 = el 22) , fud 7).

«) - y

f (x) = y—‘f [701)/1)]: J‘%[/D&[lx)]
10 dec (Zx) tan (22 ) + Z
20 el 2x) 'L“"[zﬂ—) .

o



